- 6se'L €9 0921 - - ? = 09zt £9 §sc'L S 6

- 1522 ZLL 0082 - : 96 LLLL 8 oTlLL 9 orL'L 8 2&72 8

- 842 SEL 00°€E - - 09 6911 9 00'SL 5L 60€'L 2 Bloie | £

6l 6¥S's 6L1 0509 £9 2zt 85 8rLl L 091l 85 vLLL L ey 9

6l L8€'E 081 0909 09 €86 99 z8el 1 0801 S cel'L 6 Eex=gra S

St SeL'e 681 06'€9 99 W'l €9 8521 S oo'ck 09 Lee'L 9 [Yid& v

8 188'c sie 0S¢ Sl 60€'L 0L 440 € 00¥1 oL 982'L € X~ €

9 8/8'¢ §22 0S°€L 0L L'l S 621 4 0091 08 ELEL lglivf2 [4

9 2€6'c 9z2 0Z'1L 08 vee'l 08 2eElL 0T€L 99 9/2'L Shiz l
kBB | B Be | *dMd UMd R YMd | TE | 32 | %00YMd | dMd R -
we-L | gshE | umd [ RER el RAR hel RAR il o

Urho)idR R

<ivizir OVvia={s{x 8102




